
112/THREADED

w217 TACK WELDADV1
ROD34/2 - n3 n3Ø

3 4/

2'-012/

334/
THREADED

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

ADV1
2'-0 1/2"ROD3/4"

144
F1554-GR.36

ANCHOR_RODS
144 ADV1

- NO PAINT

144 - ANCHOR_RODS - ADV1

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

ADV1

ANCHOR_RODADV1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

JDA MADISON SELF STORAGE

ASM NSPTe
kl

a 
st

ru
ct

ur
es



1

2- m258 (F/S)

6

S-BP201
PL38/ "X4

2
14

2

4

S-BP201

43
8/ m
25

8

m
25

8

TYP

4
3 8/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

S-BP201
0'-6"PL3/8"X4"

73
A36

BEARING PLATES
73 S-BP201

- NO PAINT

146 STUD_3/4-DIAA108 0'-4"

73 - BEARING PLATES - S-BP201

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

S-BP201

ANGLES-BP201 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

JDA MADISON SELF STORAGE

ASM NSPTe
kl

a 
st

ru
ct

ur
es



3

3 - 1 116/ Ø HOLES3 - 1 116/ Ø HOLES

3

1B1
W12X14

6'-10RD

7'-0

2

3

3

3
3

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

1B1
7'-0"W12X14

1
A992

BEAM
1 1B1

- NO PAINT

6 1"Ø A490N BOLT 0'-2 1/4" FIELD BOLT-

ONE - BEAM - 1B1

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

1B1

BEAM1B1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

JDA MADISON SELF STORAGE

ASM NSPTe
kl

a 
st

ru
ct

ur
es



3 - 1 116/ Ø HOLES

1B2
W12X14

3 - 1 116/ Ø HOLES

9'-3RD

9'-5

3

2

3
33

3 3

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

1B2
9'-5"W12X14

1
A992

BEAM
1 1B2

- NO PAINT

6 1"Ø A490N BOLT 0'-2 1/4" FIELD BOLT-

ONE - BEAM - 1B2

Te
kl

a 
st

ru
ct

ur
es REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

1B2

BEAM1B2 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

JDA MADISON SELF STORAGE

ASM MVK



2 - 1316/ Ø HOLES2 - 1316/ Ø HOLES

21
2/

3

1B3
W8X10

9'-312/RD

9'-5

21
2/

112/

3

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

1B3
9'-5"W8X10

11
A992

BEAMS
11 1B3

- NO PAINT

44 3/4"Ø A325N BOLT 0'-1 3/4" FIELD BOLT-

11 - BEAMS - 1B3

Te
kl

a 
st

ru
ct

ur
es REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

1B3

BEAM1B3 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

JDA MADISON SELF STORAGE

ASM NSP



11
2/

bpl13

21
2/

1B4
W8X102 - 1316/ Ø HOLES

478/

a40 (B/S)

316/
3 SIDES

A

A

2 - 916/ Ø HOLES

3

112/

3

12/4'-334/

4'-414/

3'-1078/RD

bpl13

A - A

a40

4516/

a40
4 - 1316/ Ø HOLES

316/ 2"@12
316/ 2"@12

27
16/

3

4516/

3

1 16/

12

83
8/

2- a40
1B4

bpl13

83
4/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

1B4
4'-3 3/4"W8X10

1
A992

BEAM
1 1B4

- NO PAINT

a402 L6X4X3/8A36 0'-6"
bpl131 PL1/4"X11 5/16"A36 4'-3 3/4"

2 1/2"Ø WEDGE_ANC BOLT 0'-4 1/2" FIELD BOLT-
2 3/4"Ø A325N BOLT 0'-1 3/4" FIELD BOLT-

ONE - BEAM - 1B4

Te
kl

a 
st

ru
ct

ur
es REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

1B4

BEAM1B4 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

JDA MADISON SELF STORAGE

ASM NSP



3 - 1 116/ Ø HOLES

3

2

3 - 1 116/ Ø HOLES

3

8'-11

1B5
W12X14

6 - 1316/ Ø HOLES

3 3

8'-94'-234/RD

3

512/

3 33
3

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

1B5
8'-11"W12X14

2
A992

BEAMS
2 1B5

- NO PAINT

12 1"Ø A490N BOLT 0'-2 1/4" FIELD BOLT-

2 - BEAMS - 1B5

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

1B5

BEAM1B5 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

JDA MADISON SELF STORAGE

ASM NSPTe
kl

a 
st

ru
ct

ur
es



2- m44 (F/S)

1BP1
PL1"X7 12/ 2- r1 (N/S)

1'-0

71
2/

33
4/

3 4/
3

112/9112/

TYP

614/
TYP

1BP1

2- r1

m
44

m
44

2

8

312/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

1BP1
1'-0"PL1"X7 1/2"

1
A36

BEARING_PLATE
1 1BP1

- NO PAINT

2 STUD_3/4-DIAA108 0'-5"
r12 ROD3/4"A36 0'-2"

ONE - BEARING_PLATE - 1BP1

Te
kl

a 
st

ru
ct

ur
es REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

1BP1

BEARING_PLATE1BP1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

JDA MADISON SELF STORAGE

ASM NSP

m44



112/

2- r1 (N/S)
1BP2
PL12/ "X7 12/

2- m44 (F/S)

8

71
2/

33
4/

3 4/
3

112/5

2

m
44

m
44

1BP2

TYP

2- r1 TYP

71
2/

214/278/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

1BP2
0'-8"PL1/2"X7 1/2"

3
A36

BEARING_PLATES
3 1BP2

- NO PAINT

6 STUD_3/4-DIAA108 0'-5"
r16 ROD3/4"A36 0'-2"

3 - BEARING_PLATES - 1BP2

m44

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

1BP2

BEARING_PLATE1BP2 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

JDA MADISON SELF STORAGE

ASM NSPTe
kl

a 
st

ru
ct

ur
es



6

A - A

758/ 38/
3 8/

55
8/

8

R 3
8/

6

2BPL1
PL38/ "X13 38/

A

A

5'-1

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

2BPL1
5'-1"PL3/8"X13 3/8"

1
A36

BENT_PLATE
1 2BPL1

- GALVANIZED

ONE - BENT_PLATE - 2BPL1

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

2BPL1

BENT_PLATE2BPL1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

GALVANIZED

JDA MADISON SELF STORAGE

ASM NSPTe
kl

a 
st

ru
ct

ur
es



55
8/

A - A

8

38/758/

6

3 8/

R 3
8/

6

2BPL2
PL38/ "X13 38/

A

A

10'-0

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

2BPL2
10'-0"PL3/8"X13 3/8"

2
A36

BENT_PLATES
2 2BPL2

- GALVANIZED

2 - BENT_PLATES - 2BPL2

Te
kl

a 
st

ru
ct

ur
es REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

2BPL2

BENT_PLATE2BPL2 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

GALVANIZED

JDA MADISON SELF STORAGE

ASM NSP



BL
1

PI
PE

6S
C

H
40

7'
-0

Te
kl

a 
st

ru
ct

ur
es

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

BL1
7'-0"PIPE6SCH40

23
A53

BOLLARDS
23 BL1

- SHOP PRIME

23 - BOLLARDS - BL1

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

BL1

BOLLARDBL1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

JDA MADISON SELF STORAGE

ASM NSP



1C
1

Ea
st

H
SS

6X
6X

3 8/

m67
CTR'D

1

A

A

p104

1 - 12/ Ø THR'U HOLE DD

BB

CC

14
'-3

3 8/
R

D

bp8

2 - (1316/ "x1 12/ ") SLOTS

p23

p23

1

1

1

1 2/

16
'-3

1 8/

3

15
'-1

5 8/

5

12/

1'
-0

1 2/ 10
2

B - B

4 - 78/ Ø HOLES

14/

bp8

11
2/

41
2/

112/

41
2/

11
2/

1'
-0

112/412/412/

1'-0

C - C

316/
316/

TYP

p23

p23

12/

1 8/

1C
1

A - A

p23

316/ p104

m67

p23

5

bp8

2 - (1316/ "x1 12/ ") SLOTS
316/

1

3

14
'-3

3 8/
R

D

18/

D - D

4

p104

4

5 5

8

10

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

1C1
15'-1 5/8"HSS6X6X3/8

1
A500-GR.C

COLUMN
1 1C1

- NO PAINT

bp81 PL1"X12"A36 1'-0"
m671 HSS6X6X3/8A500-GR.C 1'-0"
p232 PL3/8"X3 1/2"A36 0'-6"
p1041 PL1/2"X8"A36 0'-10"

ONE - COLUMN - 1C1

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

1C1

COLUMN1C1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

JDA MADISON SELF STORAGE

ASM MVKTe
kl

a 
st

ru
ct

ur
es



10
1 - 12/ Ø THR'U HOLE

1 2/

3

p143

m62
CTR'D

2'
-1

03
4/ p143

1C2 East
HSS6X6X38/

p104

3 - (1 116/ "x1 12/ ") SLOTS

p19

DD

A

A

CC

BB

1

1

1

71
2/

1'
-0

1 2/
1'

-9
1 4/

716/

1

3

512/

2

4

1'-0

B - B

14/

2

4 - 1 18/ Ø HOLES

1'
-0

2

p19

2
4

4

42

316/
316/

TYP

C - C

p143

p143

7 16/

716/

A - A

512/

3 - (1 116/ "x1 12/ ") SLOTS
p143

1C2

m62

p19

p104

p143

316/

316/

3

1

71
2/

3

716/

D - D

p104

4

8

10

4

55

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

1C2
1'-9 1/4"HSS6X6X3/8

1
A500-GR.C

COLUMN
1 1C2

- NO PAINT

m621 HSS7X7X3/8A500-GR.C 1'-0"
p191 PL1"X12"A36 1'-0"
p1041 PL1/2"X8"A36 0'-10"
p1432 PL3/8"X4 1/2"A36 0'-9 1/2"

4 1"Ø SIMPSON BOLT 0'-8" FIELD BOLT-

ONE - COLUMN - 1C2

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

1C2

COLUMN1C2 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

JDA MADISON SELF STORAGE

ASM ARPTe
kl

a 
st

ru
ct

ur
es



1C
3

Ea
st

H
SS

6X
6X

3 8/

p104

p23

p23

m67
CTR'D

10 1 - 12/ Ø THR'U HOLE

p2314
'-1

R
D

BB

A

A

CC

4 - (1316/ "x1 12/ ") SLOTS

1 - 12/ Ø THR'U HOLE

2

3

1 2/

1'
-0

1 2/

3

12/
15

'-1
13

4/

14
'-1

11
4/

14
'-1

55

2
B - B

p23

p23

7 16/

p23

12/

316/
316/

TYP

7 16/

1C
3

A - A

p104

p23

m67

2 - (1316/ "x1 12/ ") SLOTS

3

716/

316/

p23 (B/S)

316/

14
'-1

R
D

5

p104

C - C

8

4

5 5

10

4

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

1C3
14'-11 1/4"HSS6X6X3/8

8
A500-GR.C

COLUMNS
8 1C3

- NO PAINT

m678 HSS6X6X3/8A500-GR.C 1'-0"
p2324 PL3/8"X3 1/2"A36 0'-6"
p1048 PL1/2"X8"A36 0'-10"

8 - COLUMNS - 1C3

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

1C3

COLUMN1C3 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

JDA MADISON SELF STORAGE

ASM NSPTe
kl

a 
st

ru
ct

ur
es



2

1C4 East
HSS6X6X38/

18/
6 - (1 116/ "x1 12/ ") SLOTS

71
2/

p104

1 2/

1

p143

m62
CTR'D

CC

1 - 12/ Ø THR'U HOLE

p19

DD

p143p143

BB

A

A

1

1

1

1'
-0

1 2/
1'

-9
1 4/

3

1

2'
-1

03
4/

3
10

71
2/ 512/

3

512/

3

B - B

p19

14/

4 - 1 18/ Ø HOLES

1'
-0

4

1'-0

2

242

4
4

2

p143

C - C

p143

p143

316/
316/

TYP

18/

7 16/ 7 16/

A - A

716/

p104

512/

1C4

p143

m62

316/

3

p19

3 - (1 116/ "x1 12/ ") SLOTS

p143 (B/S)

316/

1

3
71

2/

D - D

p104

4
4

5 5

8

10

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

1C4
1'-9 1/4"HSS6X6X3/8

1
A500-GR.C

COLUMN
1 1C4

- NO PAINT

m621 HSS7X7X3/8A500-GR.C 1'-0"
p191 PL1"X12"A36 1'-0"
p1041 PL1/2"X8"A36 0'-10"
p1433 PL3/8"X4 1/2"A36 0'-9 1/2"

4 1"Ø SIMPSON BOLT 0'-8" FIELD BOLT-

ONE - COLUMN - 1C4

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

1C4

COLUMN1C4 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

JDA MADISON SELF STORAGE

ASM ARPTe
kl

a 
st

ru
ct

ur
es



p104

3

2 - (1316/ "x1 12/ ") SLOTS

DD

p19

10

1'
-9

1 4/

1

1C5 East
HSS6X6X38/

2

1 - 12/ Ø THR'U HOLE

m62
CTR'D

1 2/

p23

512/

p143

1

p143

A

A

5

CC

2'
-1

03
4/

BB

3 - (1 116/ "x1 12/ ") SLOTS
111

1

71
2/

1'
-0

1 2/
1

3

18/
3

2

B - B

4

1'-0

2

2

p19 4 - 1 18/ Ø HOLES

14/

1'
-0

2

4

44

4
4

p104

D - D

8

55

10

C - C

p143

p23

316/
316/

p143

316/
316/

TYP

7 16/

18/

7 16/

A - A

3 - (1 116/ "x1 12/ ") SLOTS
p143

1C5

m62

p19

p104

p23

3

p143

316/

316/

3

1

71
2/ 716/512/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

1C5
1'-9 1/4"HSS6X6X3/8

1
A500-GR.C

COLUMN
1 1C5

- NO PAINT

m621 HSS7X7X3/8A500-GR.C 1'-0"
p191 PL1"X12"A36 1'-0"
p231 PL3/8"X3 1/2"A36 0'-6"
p1041 PL1/2"X8"A36 0'-10"
p1432 PL3/8"X4 1/2"A36 0'-9 1/2"

4 1"Ø SIMPSON BOLT 0'-8" FIELD BOLT-

ONE - COLUMN - 1C5

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

1C5

COLUMN1C5 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

JDA MADISON SELF STORAGE

ASM ARPTe
kl

a 
st

ru
ct

ur
es



2C
1

Ea
st

H
SS

5X
5X

3 8/

1 - 12/ Ø THR'U HOLE

3

p104

2 - (1316/ "x1 12/ ") SLOTS

1 - 12/ Ø THR'U HOLE

m143
CTR'D

p231 2/

CC

A

A

BB

p23

11
'-4

10
'-3

1 2/

9'
-5

1 4/
R

D

1'
-0

1 2/

2
10

2

412/
716/

B - B

p23

p23

316/
316/

TYP

716/

7 16/

A - A

p23

2 - (1316/ "x1 12/ ") SLOTS

316/

p23

412/

2C
1

m143

p104

316/

3

716/9'
-5

1 4/
R

D

10

p104

C - C

4
4

5

8

5

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

2C1
10'-3 1/2"HSS5X5X3/8

1
A500-GR.C

COLUMN
1 2C1

- NO PAINT

m1431 HSS6X6X5/8A500-GR.C 1'-0"
p232 PL3/8"X3 1/2"A36 0'-6"
p1041 PL1/2"X8"A36 0'-10"

ONE - COLUMN - 2C1

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

2C1

COLUMN2C1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

JDA MADISON SELF STORAGE

ASM NSPTe
kl

a 
st

ru
ct

ur
es



A

A

CC

1 - 12/ Ø THR'U HOLE

9'
-5

1 4/

BB

716/ p23

412/
10

'-3
1 2/

p23

p23

2C
2

Ea
st

H
SS

5X
5X

3 8/

4 - (1316/ "x1 12/ ") SLOTS

2 p104

1 - 12/ Ø THR'U HOLE

m143
CTR'D

2

1'
-0

1 2/

3

9'
-5

1 4/
R

D

11
'-4

3

412/

1 2/

10
716/

316/
316/

TYP

B - B

p23

p23 p23

7 16/ 7 16/

5

C - C

p104

4
4

8

5

10

A - A

316/

316/

p23 (B/S)3

2C
2

p23

m143

p104

2 - (1316/ "x1 12/ ") SLOTS

412/

9'
-5

1 4/
R

D

716/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

2C2
10'-3 1/2"HSS5X5X3/8

1
A500-GR.C

COLUMN
1 2C2

- NO PAINT

m1431 HSS6X6X5/8A500-GR.C 1'-0"
p233 PL3/8"X3 1/2"A36 0'-6"
p1041 PL1/2"X8"A36 0'-10"

ONE - COLUMN - 2C2

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

2C2

COLUMN2C2 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

JDA MADISON SELF STORAGE

ASM NSPTe
kl

a 
st

ru
ct

ur
es



1 - 12/ Ø THR'U HOLE

9'
-5

1 4/
R

D

m143
CTR'D

1 - 12/ Ø THR'U HOLE

A

A

p104

2C
3

Ea
st

H
SS

5X
5X

3 8/

2

4 - (1316/ "x1 12/ ") SLOTS

p23

412/

p23

p23

1'
-0

1 2/ 10
3

CC

12/
BB

412/
11

'-4

10
'-3

1 2/

9'
-5

1 4/

3

2

1 2/

B - B

p23

7 16/

p23

p23 316/
316/

TYP
12/

7 16/

C - C

p104

8

4

5

4

5

10

316/

A - A

m143

3

2C
3

2 - (1316/ "x1 12/ ") SLOTS

p23 (B/S)

p23

p104

316/

9'
-5

1 4/
R

D

716/412/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

2C3
10'-3 1/2"HSS5X5X3/8

8
A500-GR.C

COLUMNS
8 2C3

- NO PAINT

m1438 HSS6X6X5/8A500-GR.C 1'-0"
p2324 PL3/8"X3 1/2"A36 0'-6"
p1048 PL1/2"X8"A36 0'-10"

8 - COLUMNS - 2C3

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

2C3

COLUMN2C3 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

JDA MADISON SELF STORAGE

ASM NSPTe
kl

a 
st

ru
ct

ur
es



12/

CC

m143
CTR'D

1 - 12/ Ø THR'U HOLE

1 - 12/ Ø THR'U HOLE

2C
4

Ea
st

H
SS

5X
5X

3 8/

p104

p23
p23

BB

1 2/

2 - (1316/ "x1 12/ ") SLOTS

A

A

2

9'
-1

01
2/

R
D

3

1'
-0

1 2/
10

'-8
3 4/

11
'-9

1 4/

412/

10
2

B - B

p23

p23316/
316/

TYP

7 16/

12/

5

C - C

p104

8

4
4

5

10

p104

A - A

716/

p23

2C
4

p23

316/

2 - (1316/ "x1 12/ ") SLOTS

m143

316/

3

9'
-1

01
2/

R
D

412/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

2C4
10'-8 3/4"HSS5X5X3/8

1
A500-GR.C

COLUMN
1 2C4

- NO PAINT

m1431 HSS6X6X5/8A500-GR.C 1'-0"
p232 PL3/8"X3 1/2"A36 0'-6"
p1041 PL1/2"X8"A36 0'-10"

ONE - COLUMN - 2C4

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

2C4

COLUMN2C4 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

JDA MADISON SELF STORAGE

ASM NSPTe
kl

a 
st

ru
ct

ur
es



m143
CTR'D

p104

2C
5

Ea
st

H
SS

5X
5X

3 8/

1 - 12/ Ø THR'U HOLE

1 - 12/ Ø THR'U HOLE

p23 (B/S)

CC

A

A

BB
316/

11
'-4

10
'-3

1 2/
1'

-0
1 2/

2

716/

2

1 2/

10

B - B

p23

p23
316/
316/

TYP

716/

716/

A - A

p23

316/

p23

2C
5

3

m143

p104

9'
-5

1 4/
R

D

4 - (1316/ "x1 12/ ") SLOTS

3

9'
-5

1 4/

412/412/

10

C - C

5

8

4

p104

4

5

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

2C5
10'-3 1/2"HSS5X5X3/8

1
A500-GR.C

COLUMN
1 2C5

- NO PAINT

m1431 HSS6X6X5/8A500-GR.C 1'-0"
p232 PL3/8"X3 1/2"A36 0'-6"
p1041 PL1/2"X8"A36 0'-10"

ONE - COLUMN - 2C5

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

2C5

COLUMN2C5 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

JDA MADISON SELF STORAGE

ASM NSPTe
kl

a 
st

ru
ct

ur
es



1DA1
L5X5X38/

312/ 7 - 1316/ Ø HOLES

16'-312/13'-712/10'-1112/8'-312/5'-712/2'-1112/RD

16'-7

2
3

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

1DA1
16'-7"L5X5X3/8

1
A36

DECK ANGLE
1 1DA1

- NO PAINT

7 3/4"Ø EXPANSION ANCHOR BOLT 0'-7" FIELD BOLT-

ONE - DECK ANGLE - 1DA1

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

1DA1

DECK ANGLE1DA1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

JDA MADISON SELF STORAGE

ASM NSPTe
kl

a 
st

ru
ct

ur
es



12'-1012/

3

15'-9

5'-412/

7 - 1316/ Ø HOLES

1DA2
L5X5X38/

15'-412/10'-412/7'-1012/2'-1012/RD

2

412/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

1DA2
15'-9"L5X5X3/8

1
A36

DECK ANGLE
1 1DA2

- NO PAINT

7 3/4"Ø EXPANSION ANCHOR BOLT 0'-7" FIELD BOLT-

ONE - DECK ANGLE - 1DA2

Te
kl

a 
st

ru
ct

ur
es REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

1DA2

DECK ANGLE1DA2 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

JDA MADISON SELF STORAGE

ASM NSP



S-DP1
CP316/ "X43 34/

15
8/

3'-734/

4'
-3

7 8/

118/

118/

51
2/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

S-DP1
4'-3 7/8"CP3/16"X43 3/4"

1
A36

DIAMOND PLATE
1 S-DP1

- SHOP PRIME

ONE - DIAMOND PLATE - S-DP1

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

S-DP1

DIAMOND PLATES-DP1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

JDA MADISON SELF STORAGE

ASM NSPTe
kl

a 
st

ru
ct

ur
es



m307

1316/

S-EG201

p260

p262

TYP

34/1'-1034/

11
2/

1716/

1'
-0

33
4/p262

p262

m307

S-EG201
PIPE1-14/ SCH40

G
AP

2'
-1

11
16/ TYP

p260

9516/

1

1'
-0p260

TYP

A

A

1'-0

1'
-0

34/
1716/

11
16/

1'-9516/1316/

2'-0516/

2'
-2

1 8/
2'

-1
3 4/

11
7 8/

1 8/

1 8/

91
5 16/

1'
-0

13
16/

R 11 4/

13
16/

34/1716/1316/

12

9516/

A - A

13
8/

p260

314/

63
8/

2 - 78/ Ø HOLES

m307

p262

p260

S-EG201

2 - 78/ Ø HOLES

p262

br205

br204

18/
18/

TYP

1'
-6

314/314/

314/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

S-EG201
6'-10 11/16"PIPE1-1/4SCH40

1
A53

EGRESS GATE
1 S-EG201

- SHOP PRIME

1 SELF CLOSING HINGEA53 BOI
1 SELF CLOSING HINGEA53 BOI

m3071 HSS1-1/2X1-1/2X1/8A53 2'-1 3/4"
p2602 PL1/4"X3"A36 0'-9"
p2622 PL1/8"X1 1/2"A36 0'-1 1/2"

4 3/4"Ø EPOXY_ANC BOLT 0'-4 3/4" FIELD BOLT-

ONE - EGRESS GATE - S-EG201

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

S-EG201

EGRESS GATES-EG201-

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

JDA MADISON SELF STORAGE

ASM NSPTe
kl

a 
st

ru
ct

ur
es



11116/

11116/

2'-912/RD

3 - 1316/ Ø HOLES
TYP

3'-514/

2HG1
C6X8.2 33

3

R 3 8/

1
1

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

2HG1
3'-5 1/4"C6X8.2

4
A36

HANGERS
4 2HG1

- NO PAINT

12 3/4"Ø A325N BOLT 0'-1 3/4" FIELD BOLT-

Te
kl

a 
st

ru
ct

ur
es

4 - HANGERS - 2HG1

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

2HG1

HANGER2HG1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

JDA MADISON SELF STORAGE

ASM NSP



3 - 1316/ Ø HOLESR 3 8/

6'-9516/

5'-778/RD

11116/

TYP

2HG2
C6X8.2

33

11116/

1
1

3

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

2HG2
6'-9 5/16"C6X8.2

5
A36

HANGERS
5 2HG2

- NO PAINT

15 3/4"Ø A325N BOLT 0'-1 3/4" FIELD BOLT-

5 - HANGERS - 2HG2

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

2HG2

HANGER2HG2 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

JDA MADISON SELF STORAGE

ASM NSPTe
kl

a 
st

ru
ct

ur
es



21
4/

3 4/

212/

2KB1
L3X3X38/

10'-6

1116/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

2KB1
10'-6"L3X3X3/8

4
A36

KICKER_BRACES
4 2KB1

- NO PAINT

4 - KICKER_BRACES - 2KB1

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

2KB1

KICKER_BRACE2KB1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

JDA MADISON SELF STORAGE

ASM NSPTe
kl

a 
st

ru
ct

ur
es



2KB2
L3X3X38/

3
9'-178/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

2KB2
9'-1 7/8"L3X3X3/8

5
A36

KICKER_BRACES
5 2KB2

- NO PAINT

5 - KICKER_BRACES - 2KB2

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

2KB2

KICKER_BRACE2KB2 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

JDA MADISON SELF STORAGE

ASM NSPTe
kl

a 
st

ru
ct

ur
es



A - A

1'
-0

3'
-6

3 8/
11

3 4/
1'

-0 bp
l2

5

5 - 1316/ Ø HOLES

bpl26

534/

bpl26

bpl26

bpl26

14/
3 SIDES TYP

1'
-0

1'
-0

R
 1

1 4/

734/

bpl26

38/

A

AA

A

m168

bpl26

bpl26

bpl26

bpl26

(TYP)

1'-8

m168

bp
l2

5

BB

LD
1

PL
3 8/

"X
2 

1 2/

m168

m168

bpl26

m168

bpl26

4 - 34/ Ø HOLES 4 - 34/ Ø HOLES

bpl26

DET. A

38/

38/1'-1114/38/

3'
-6

3 8/
1'

-0
1'

-0
1'

-0
1'

-0
11

3 4/

8'
-6

6
2'

-6
2'

-6
2'

-6
6

178/
TYP

178/
TYP

C

B - B

L 
O

F 
R

U
N

G

m168

LD1

L OF LADDER

bpl26 bpl26

bpl25
1'-8

C

338/1038/1038/338/

7 7

38/38/

DETAIL-A

RUNG

TYP

38/
18/ 14/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

LD1
8'-6 3/16"PL3/8"X2 1/2"

1
A36

LADDER
1 LD1

- SHOP PRIME

bpl251 PL3/8"X2 1/2"A36 8'-6 3/16"
bpl268 PL3/8"X2 1/2"A36 0'-10 1/2"
m1685 ROD3/4"A36 1'-8 1/2"

8 5/8"Ø HILTI-KB3 BOLT 0'-5" FIELD BOLT-

ONE - LADDER - LD1

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

LD1

LADDERLD1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

JDA MADISON SELF STORAGE

ASM NSPTe
kl

a 
st

ru
ct

ur
es



4 - 1 116/ Ø HOLES

9

LP1
PL14/ "X12

112/112/

1'-0
11

2/
9

11
2/

1'
-0

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

LP1
1'-0"PL1/4"X12"

36
A36

LEVEL_PLATES
36 LP1

- NO PAINT

36 - LEVEL_PLATES - LP1

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

LP1

LEVEL PLATELP1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

JDA MADISON SELF STORAGE

ASM NSPTe
kl

a 
st

ru
ct

ur
es



1LA1
L5X3-12/ X516/

A

Aa2

4'-8

5

1LA1

A - A

5 a2

2"@12
2"@12

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

1LA1
4'-8"L5X3-1/2X5/16

1
A36

LINTEL ANGLE
1 1LA1

- GALVANIZED

a21 L5X3-1/2X5/16A36 4'-8"

ONE - LINTEL ANGLE - 1LA1

Te
kl

a 
st

ru
ct

ur
es REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

1LA1

LINTEL ANGLE1LA1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

GALVANIZED

JDA MADISON SELF STORAGE

ASM NSP



2'-312/

MP3
PL38/ "X12

1'
-0

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

MP3
2'-3 1/2"PL3/8"X12"

10
A36

LOOSE PLATES
10 MP3

- NO PAINT

10 - LOOSE PLATES - MP3

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

MP3

LOOSE PLATEMP3 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

JDA MADISON SELF STORAGE

ASM NSPTe
kl

a 
st

ru
ct

ur
es



1P
O

1
H

SS
12

X4
X3

8/

a92 a92

a92a92

A

A

14
'-3

3 4/

1'-0

A - A

1PO1
HSS12X4X38/

a92

a92

A - A

a92 (B/S)

a92 (B/S)

1P
O

1

4
TYP316/

TYP

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

1PO1
14'-3 3/4"HSS12X4X3/8

1
A500-GR.C

POST
1 1PO1

- SHOP PRIME

a924 L3X3X5/16A36 0'-4"

Te
kl

a 
st

ru
ct

ur
es

ONE - POST - 1PO1

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

1PO1

POST1PO1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

JDA MADISON SELF STORAGE

ASM NSP



1P
O

2
H

SS
12

X4
X3

8/

a92

a92

9'
-1

0

a92

a92

A

A

1'-0

A - A

1PO2
HSS12X4X38/a92

a92

A - A

316/
TYP

1P
O

2

TYP

a92 (B/S)

a92 (B/S)

4

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

1PO2
9'-10"HSS12X4X3/8

1
A500-GR.C

POST
1 1PO2

- SHOP PRIME

a924 L3X3X5/16A36 0'-4"

ONE - POST - 1PO2

Te
kl

a 
st

ru
ct

ur
es REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

1PO2

POST1PO2 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

JDA MADISON SELF STORAGE

ASM NSP



TY
P

11316/

R 1
1 4/

TYP

po
50

2

3@3'-618/ =10'-6716/

RR501
PIPE1-14/ SCH40

17'-058/

po
50

1

1'-218/
po

50
1 po

50
2

po
50

2

3'
-1

13
16/

po
50

2

2'
-1

15
16/

TYP

TYP

19'-6

1316/

10
5 16/

1'-2116/17'-018/1316/

2'
-1

13
16/

31
4/

10
5 16/

2'
-1

13
16/ 3'
-0

3 16/

11316/

3'-318/

3'-318/

13
16/

2'
-1

11
4/

TY
P

10516/

10516/

1

12

31
2/ 31

2/ 31
2/ 31

4/

1'
-5

4'
-6

5@3'-6=17'-6

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

RR501
22'-9 15/16"PIPE1-1/4SCH40

4
A53

RAMP_RAILS
4 RR501

- SHOP PRIME

po5018 PIPE1-1/4SCH40A53 3'-0 3/16"
po50216 PIPE1-1/4SCH40A53 3'-0 3/16"

4 - RAMP_RAILS - RR501

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

RR501

RAMP RAILRR501 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

JDA MADISON SELF STORAGE

ASM NSPTe
kl

a 
st

ru
ct

ur
es



SL1
PIPE1-14/ SCH40

138/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

SL1
0'-1 3/8"PIPE1-1/4SCH40

19
A53

SLEEVES
19 SL1

- NO PAINT

19 - SLEEVES - SL1

Te
kl

a 
st

ru
ct

ur
es REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

SL1

SLEEVESL1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

JDA MADISON SELF STORAGE

ASM MVK



A - A

2'-7

316/
ANGLE TO TREAD

TYP

p1
7

12'-4 1
16/

9- m88

14/
3 SIDES

S-ST1MC12X10.6

p15

NO
SI

NG

9- a18

10
@

63
4/ =

5'
-7

11
16/

14/

p14

4 - 916/ Ø HOLES

10@11=9'-2

316/

18 - 916/ Ø HOLES IN STAIR
BOLT TO SHIP

a3

316/

CC

DET. A
(TYP)

316/ p36

p36

10'-814/

1138/638/

6

91
1 16/

8@
63

4/ =
4'

-6
3 16/

59
16/

6
TYP

11
5 16/

91
1 16/

2

6'
-1

11
4/

1'
-3

5 16/
1'

-1
5 16/

334/6

2

81
16/

12

73
8/

1 4/
6'

-1
03

4/
1 4/

1'-034/8@11=7'-42'-3

1'-1 3
4/

8@1'-0 15
16/ =8'-7 5

16/

10'-734/14/

p15 p17

a18a18

3'
-9

IN
SI

D
E 

ST
AI

R

10'-734/

14/

S-ST1
MC12X10.6

a3
2 - 78/ Ø HOLES

a3

2 - 78/ Ø HOLES

p17m53p15

9- m88

a17 a17 a17 a17 a17 a17 a17 a17 a17

a18 a18 a18 a18 a18 a18 a18A A

10'-814/

B B

STAIR UP

10'-814/

11
2/

11
2/

4'
-0

14/10'-734/
3'

-9

14/14/

B - B

316/p15

p36

8@1'-0 15
16/ =8'-7 5

16/

m53

p1
7

NO
SI

NG

a3

14/

91
1 16/

18 - 916/ Ø HOLES IN STAIR
BOLT TO SHIP

CC

55
16/

2

316/

p14

4 - 916/ Ø HOLES

10@11=9'-2

9- m88

14/3 SIDES

9- a17

316/
p36

316/ANGLE TO TREAD
TYP

638/ 1138/

10'-814/

10'-734/

2

6
TYP

14/

6'
-1

11
4/

12'-4 1
16/

77
8/

11
5 16/

334/6

8@
63

4/ =
4'

-6
3 16/

91
1 16/

10
@

63
4/ =

5'
-7

11
16/

1 4/
6'

-1
03

4/
1 4/

1'
-3

5 16/
1'

-1
5 16/

12

73
8/

1'-034/8@11=7'-42'-3

1'-1 3
4/

2'-7

C - C

a3
2 - 78/ Ø HOLES

p17p36

11
2/

14/514/3

DETAIL-A

11
TYP

63
4/

TY
P

1

11
TYP

TY
P

1'-0 15
16/TYP

ANGLE
L2X2X316/

STAIR
MC12X10.6

DIAMOND PLATE
CP316/ "X20 1516/

11
TYP

11
TYP

63
4/

TY
P

63
4/

TY
P

2

11
TYP

11
TYP

6
TYP

63
4/

TY
P

1'-0 15
16/TYP

1'-0 15
16/TYP

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

S-ST1
12'-8 3/16"MC12X10.6

1
A36

STAIR
1 S-ST1

- SHOP PRIME

a32 L3-1/2X3X3/8A36 0'-6"
a179 L2X2X3/16A36 0'-10"
a189 L2X2X3/16A36 0'-10"
m531 MC12X10.6A36 12'-8 3/16"
m889 CP3/16"X20 15/16"A36 3'-9"
p142 PL1/4"X1 1/2"A36 0'-6"
p152 PL1/4"X1 1/2"A36 0'-2 3/16"
p172 PL1/4"X1 1/2"A36 0'-8 1/16"
p362 PL1/4"X1 1/2"A36 0'-10 1/4"

36 1/2"Ø A325N BOLT 0'-1 1/4"-
4 3/4"Ø TITEN_HD BOLT 0'-5" FIELD BOLT-

ONE - STAIR - S-ST1
 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

S-ST1

STAIRS-ST1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

JDA MADISON SELF STORAGE

ASM NSP

REVISIONS

NO DESCRIPTION DATE

Te
kl

a 
st

ru
ct

ur
es



7'
-5

13
16/

A - A

65
8/

7'
-6

1 16/

91
1 16/

61
4/

p16

10'-1112/

316/

10'-11

10- m88

20 - 916/ Ø HOLES IN STAIR
BOLT TO SHIP

p14

45 8/

2 - 916/ Ø HOLES

S-ST2

MC12X10.6

NOSING

10- a18

p15

316/

2

2

12

73
8/

11
TYP

63
4/

TY
P

2

11
5 16/

91
1 16/

6

1 4/

6
TYP

2'-7

9@1'-0
15 16/ =9'-8

1 4/

12'-7
7 8/

14/14/

2'-39@11=8'-35

6716/10@11=9'-21'-2916/

1'
-3

5 16/
8@

63
4/ =

4'
-6

3 16/
1'

-8
3 8/

10
@

63
4/ =

5'
-7

11
16/

1'
-0

3 8/

14/14/

a17
p14

a18

m51

a17
p16

a17a17a17 a17a17a17 a17a17
p15

p16

A AS-ST2
MC12X10.6

a18a18a18a18a18a18a18 a18a18
p15

10 - m88 STAIR UP

B B

p14

4'
-0

14/10'-1114/

10'-1112/

10'-11

10'-1112/

11
2/

3'
-9

IN
SI

D
E 

ST
AI

R
11

2/

TYP

p15

316/

B - B

10- a17

m51

NOSING

p16

2 - 916/ Ø HOLES

1'
-1

9 16/

DET. A

316/
ANGLE TO TREAD
TYP

20 - 916/ Ø HOLES IN STAIR
BOLT TO SHIP

p14

316/

10- m88

63
4/

TY
P

11
TYP

45 8/

65
8/

61
4/

2

7'
-6

1 16/

14/10'-1114/

1 4/
7'

-5
13

16/

11
5 16/

91
1 16/

2

10'-1112/

2

2'-39@11=8'-35

6

2'-7

9@1'-0
15 16/ =9'-8

1 4/

12'-7
7 8/

6716/10@11=9'-21'-2916/

6
TYP

12

73
8/

91
1 16/

10
@

63
4/ =

5'
-7

11
16/

1'
-0

3 8/

1'
-3

5 16/
9@

63
4/ =

5'
-0

15
16/

DETAIL -  A

11
TYP

ANGLE
L2X2X316/

S-ST2
MC12X10.6

11
TYP

DIAMOND PLATE
CP316/ "X20 1516/

11
TYP

63
4/

TY
P

1'-0
15 16/

TYP

63
4/

TY
P

1'-0
15 16/

TYP

1
TY

P

6
TYP

63
4/

TY
P

11
TYP

2

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

S-ST2
13'-0 15/16"MC12X10.6

1
A36

STAIR
1 S-ST2

- SHOP PRIME

a1710 L2X2X3/16A36 0'-10"
a1810 L2X2X3/16A36 0'-10"
m511 MC12X10.6A36 13'-0 15/16"
m8810 CP3/16"X20 15/16"A36 3'-9"
p142 PL1/4"X1 1/2"A36 0'-6"
p152 PL1/4"X1 1/2"A36 0'-2 3/16"
p162 PL1/4"X1 1/2"A36 0'-6 1/4"

40 1/2"Ø A325N BOLT 0'-1 1/4"-

ONE - STAIR - S-ST2
 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

S-ST2

STAIRS-ST2 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

JDA MADISON SELF STORAGE

ASM NSP

REVISIONS

NO DESCRIPTION DATE

Te
kl

a 
st

ru
ct

ur
es



2M1
C6X8.2

15'-1

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

2M1
15'-1"C6X8.2

1
A36

TRACK
1 2M1

- NO PAINT

ONE - TRACK - 2M1

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

2M1

TRACK2M1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

JDA MADISON SELF STORAGE

ASM NSPTe
kl

a 
st

ru
ct

ur
es



A - A

S-TR1

DIAMOND PATTERN 
THIS FACE

316/

1

69
16/

518/

3 16/

63
4/

5516/

S-TR1
CP316/ "X12 116/

A

A

3'-9

63
4/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

S-TR1
3'-9"CP3/16"X12 1/16"

1
A36

TREAD
1 S-TR1

- SHOP PRIME

ONE - TREAD - S-TR1

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

S-TR1

TREADS-TR1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

JDA MADISON SELF STORAGE

MVK NSPTe
kl

a 
st

ru
ct

ur
es



S-TR2
CP316/ "X12 316/

A

A

3'-9

67
8/

A - A

S-TR2

518/

5516/

1

3 16/

DIAMOND PATTERN 
THIS FACE

67
8/

316/

61
1 16/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

S-TR2
3'-9"CP3/16"X12 3/16"

2
A36

TREADS
2 S-TR2

- SHOP PRIME

2 - TREADS - S-TR2

Te
kl

a 
st

ru
ct

ur
es REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

S-TR2

TREADS-TR2 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

JDA MADISON SELF STORAGE

MVK NSP



1316/

br3

TYP

1316/

br3p24
1 8/

br3 p24

R 1
1 4/ TYPS-WR1

8'-3516/
11

5 16/
13

16/

11
5 16/

1 8/

13
16/

21
5 16/

25
16/

A - A

CLR

br3

S-WR1

2516/

112/

TYP

p24

S-WR1
PIPE1-14/ SCH40

4

1316/

R
 1

1 4/

13
16/

3- br3

3 - 716/ Ø HOLES

p24

12

71
4/

4'
-6

7 8/

6 5
16/

4'-3 3
8/

3'-9 1
2/

4'
-5

1 4/
13

16/

8'-7 3
16/

1 16/
2'

-1
13

16/

p24

6 5
16/

13
16/

4'-3 3
8/

1316/

S-WR1
PIPE1-14/ SCH40

8'-7 3
16/

p24

A

A

br3

br3

7'-438/

br3

8'-5

101516/1316/

5716/512/

R
 1

1 4/

4'
-6

7 8/

4'
-5

1 4/
13

16/

3'-9 1
2/

12

71
4/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

S-WR1
9'-8 15/16"PIPE1-1/4SCH40

1
A53

WALLRAIL
1 S-WR1

- SHOP PRIME

br33 WALLRAIL BRACKETA36 BOI
p242 PL1/8"X1 5/8"A36 0'-1 5/8"

ONE - WALLRAIL - S-WR1

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

S-WR1

WALLRAILS-WR1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

JDA MADISON SELF STORAGE

ASM NSPTe
kl

a 
st

ru
ct

ur
es



13
16/

1 8/
S-WR2

R 11 4/

br3br3br3 br3 p24

TYP

p24

TYP

21
5 16/

1316/

11
5 16/

1 8/11
5 16/

13
16/

21
5 16/

1316/11'-11516/

25
16/

A - A

br3

CLR

2516/

S-WR2
112/

12'-117 16/

12'-1

69 16/

S-WR2
PIPE1-14/ SCH40

4'-3
7 16/

1316/

p24

4'-3
7 16/

p24

A

A

TYP

br3

br3

br3

br3

101516/11'-038/1316/

6

R
 1 1

4/

3'-101 8/

6'
-1

11
8/

13
16/

6'
-9

1 2/
13

16/

12

73
8/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

S-WR2
14'-1 1/4"PIPE1-1/4SCH40

2
A53

WALLRAILS
2 S-WR2

- SHOP PRIME

br38 WALLRAIL BRACKETA36 BOI
p244 PL1/8"X1 5/8"A36 0'-1 5/8"

2 - WALLRAILS - S-WR2

REVISIONS

NO DESCRIPTION DATE

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

S-WR2

WALLRAILS-WR2 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

JDA MADISON SELF STORAGE

ASM NSPTe
kl

a 
st

ru
ct

ur
es




